90‘0secoe Jo 18'669/¢ /8'68¢/ £1'899% L'v0/1Z 18'9£6€ €1'€€/6¢ YZ'SLy0p 66'28¢19¢ o 9Ll 6'E8VE O sexoloseg WA op
60'€L1L0Z 0 50'S5005 11'68v. Ze'voeLL  [89'cesy 1'80022 $8'L66¢ 8v'8LZEPY ¥¥'69806 25'9/2£9 0 vyl 9'CESE 8¢ vexoroseg ‘UA| oy
19'6/621 0 65°'289¢€ /9'G805 81'9/9/ £5'vlee SL'SyepL 9.'0L/2 $2'0081¢€ 9L'PrSPe €E'EVLLL 0 44" 6'86€£¢C V 9¢ sexologeg ‘UA| pp
zo'evrisz [o Ly'Z8v by 59'86v/ LL'6ELY £1'9¢022 26'966€ 6l'/69¥¢ 9E'0€0L Y 6€'8591¥Z [0 9Ll | LEGE 9¢ sexoroseg WA ¢y
82'9v00vL [0 16'0628¢€ .¥'205/ €L'ZviY S€'/v022 96'866¢€ 86'/9E ¥2'LS0LY 98'c0z8¢slL [0 9Ll 6'8EG€ v€ sexoroaeg WAl gp
71'€66891 [0 19'vIvey 20'€9// 18'906% 10'c1822 €8'/ELp L1'0582¢ 88'0/vZP 26'89¢651 |0 9Ll 8°199¢ Z¢ sBexooseg LAl |y
z6'e628L2 [0 2'0906€ 2'€59/ v’ /68y £'06¥22 €601 68'8/€/¢€ 9/8lv 19'21991Z [o 9Ll 019¢ V 0¢ sexoroseg ‘UA|l ot
19'88¢L15 [0 S2'lL¥80Y ¥9'0Z¢ L ¥'069% /8'90812 Y€'G56E 29'10/2¢ 8¥'€090¥ 86'8¥££05 [0 9Ll £°006¢ 0€ sexoroseg 'UA| B¢
G9'/Z/€¢€ 0 v.'evizL 82'62SY 66'C9E ) $2'00.5 €2'05L1 LE'vLb8 6.'08201 £2'86E£62 0 1’01 6,101 8C sexoloseg ‘wA| gg
0 G600/ 88'6ECLL $8'612€ LE'8vEL 2/'y£95 10'2€L1L ¥9'¥2801 25'6596 0 81'986/ 9'6 2'900} oc sexoogeg ‘WA| ,¢
0 LY L0YOL 81'/650L 96'800€ 0921 89'6925 $5'290L £2'€2621 eEPLLLL [0 9¢€'G/v8 28'LL £'0v6 Z¢ sexorroseg ‘UA| gg
0 $2'ezovL 2.'v628 2'ssee ¥2'986 9'LZLy 89'L€8 $S'6€19 9'690Z 0 2v'8//91 9'6 9€/L 02 sexoroseg ‘WAl Gg
0 G6'/566 8€'/10¢€ €0'105 ¥8'€602 15'22y €0'€/2¢ yy'685€ 0 62'20.6 96 6'€.E 8| sexologeg ‘WAl pg
0 $0'6208 £2'/898¢- 2S'ShpsL- 60'9/62- 29'69z01- €'29¢L1 68'00101 61'6/61€ 0 SO'LL 8'Ly6 S senxodoly vA] ¢¢
0 8€'796/8 9/°16/6 56'5202 18'G2// 85'8/811 2'G6021 0 9G'/£868 8 6'LLSL L seHxodoly ‘uA 143
99'¢g/1E 0 G6'28185 68'82/8 89'G/LEL 2€'/1L5S $'16962 99'259¢ PL'€Y0LY $0'/256¢€ Sh'vesyL 0 9'6 viliy Gy Benwkodoly ‘wA] | ¢
0 29'80¥5¥Z |€/'06001 $5'6/91 ¥2'2002 S6'ZLYL 16'L2vZL ¥8'€002Z1 0 ¥8'2/0E¥2 96 0521 Ly BeHxodol? ‘wA] og
0 91'920021L 28'SLLLL /9'€98 €6°10/1 9G'2LL. 12'GepL 92'0/5Z1 96'26121 0 82'69581 1 9'6 1'0.2L 6¢ senxodoly uA] 6z
0 10'62¢69 9/'9/0¢€L /v'6192 16591 9€'6169 €2'96€1L 19'2961 1 9/'19811 0 9L'€¥S0. 9'6 9'Ge2lL L€ senxodoly vA] gz
0 90'98509 $9'060%L GS'€962 6L°'c/81 l2'evl/ £9'6/G1 81'68ZvL $8'6LYEL 0 1G'16£09 9'6 6°/6E) GE Benxodoly wA[
0 €1'82hv 1'65p/ 95'8¢821 80'9/1G Ob'bv0L 6£'6866 88°'1Z2/0L 0 81061 9Ll €126 € Benxodoly wA] oz
0 2019065 8296821 2L'\yiz 85'0568 80'0081 89°129¢L 89'CYeESL 0 29'/£€85 9'6 £'8651 62 Benxodoly ‘Al gz
0 22'92..S 9p'68491L 85'0Eve 6£'8912 26'1906 15'8z81 €'vPEpol 2.'¥EGS1L 0 8€'18/2/5 9'6 2’8191 22 senxodoly vA] 4z
86'//25¢ 0 LL'0LELL 17'6661 £9'v29/ 20'9891 £0'08/8 822'/966 £€6'Lv/2€ 0 89'9 | X4:1 4" 81 senxodolf ‘wA] ez
50'2819/ 0 99'/85S 95'9861 /£'799 8v'9//2 52'095 2S'pp8e L'0LY 6'8EVY. 0 G'6 8'G6Y 91 Benxodoly wA] |z
28'8/¥25 0 9€'061 6% 8€'c¥90Z [66'9951 26'58061 0y 1£'0089Z 2'06v.€ 8/'8800€ 0 Ll Z2'80v¢ G| senxodoly ‘Al oz
6E'8£9GY 0 £8'9/2/% G8'shL/ 2.'06201L 19815 81'80012 /p'0L8E 69'286/¢ 91'2/£2¢ P2 vreoe 0 9'6 L'2.€€ €1 sewxodoly UA| g1
2S'€5./p 0 6V'79661 26'091€ 2Ly ¥6°'/661 9'6v€8 £8'y891 28'8€/21 9'clepL G8'/250¥% 0 9'6 134" | serxodolf ‘WA| g
0 €.'v/625 19'G988 L0'6v.  |¥9'vocz £0'596 ZL'eeoy £€8'cl8 6%/ 2'226. 0 6E'16095 Ll 2'02. 16 BEOHMUG "WA| /|
0 G8'6/1 29'0695 2'8LL1 6E'C6Y 261902 0'9Ly ¥'¥082 2.'ve5e 0 90'990¢€ 9'6 2'89¢ G6 BaOHUUG ‘WA| gL
0 9/'088001 80'vL2ZEL 2G.€ SL'L/GL 9959 £€6'¥2EL 28'6£501 9GCL1L 0 20'656€01 9'6 GClLL »S esoHuug WA G|
0 2'68ly 62'68E1L-. 8'210¢ 19°1921 v'zzes . [s'co0l 2'€0E0lL £'€096 62'20502 0 |1 20l S'Lv6 Z€ BOHUUG "UA| )
0 £0'/5v68 50'209Z1 21'690€ 61'6821 96'0/£5 8/'€801 6912201 28'28/6 0 py'28216 20l 1'656 0€ BSOHUUG "UA| ¢
81'9¥82¢ 0 9502001 61'2/91 $2'8869 €L'oLyL £e'/elel 91'8/621 96'CL65E 0 7’0l WAZ4" € BgoHUUg ‘wvA| Z|
8/'9Z5¥ 0 L0'2¥52 L1'e52L ZL'.e2s 82'9501 £1'9¢26 ¥0'6£56 68'G129 0 20} 2'GE6 9 BgoHUUg WA ||
0 Ly'pe9se G€£'888¢ yZ'ySLL pe'e8y 8L'ey8lL 6520V 9v'£962 op'el8Z 0 £'6559¢ 8L /1°09¢€ €21 eaoHuug ‘uA| o}
25'09501 0 28'1L19G1 88°'010% 95'6/91 ¥0'610Z 'Oyl 8019011 $9'2€021 £8'6009 0 9'6 y'escl 611 eaoHuug ‘uA| g
0 20'0951¢€ €2°'110€ 60'005 26'6802 L'y /9'9¢gLe 2.'285¢ 0 L0'sevle 9'6 Z'€LE Ll) esoHuug ‘LA] g
0 60'vLS.€E 10'6/8€1L 8'0¥6¢€ 12'0591 7’9689 9'l6EL 89'9v0L L 122811 0 ZP'9ve0dy 96 S'LegL L0 egoHuuq ‘LAl ;.
0 69'€6€/2 /£'2095 6£'066 8'9//¢ 81'ce8 yL'156€ 9'vPEVY 0 68'70062 9 }'6EL L1 Begolag ‘WA g
0 1'958v2 62'0£0€ LL'€0S 8'2012 ZE'vey £'999¢ GG/E 0 69'022¥2 0l S'GLE J€ eueHounendsLHy ||| UA| ¢
9/0v1 0 19'95v2 62'vEY G1'9591 £2'99¢ $9'6891 6L'ZL6L 96'40EE| 0 6'S [ R4 Z) eueHouneHdalH || UA 14
£1'68€21 0 51'090€ €1°'805 zs'ezie S'gzy 6'080S 9'626V 6L'0LbpL 0 el 2'6.€ 0¢ nuog 'uu €
£.'6v16 0 106519 6'v.v $9'p861 v'00p ££'6802 96'0602 50'¥805 0 6'S V' ¥GE Y 2| wuog 'uu Z
0 pL'LELES £9'8002 £5'€eC ¥8'€6E1L 92'182 52'06¥2 G/'9981 0 19'692€5 S/ 6'8¥C Zl wuog uu 3

indady 1909y inrady 1999y

qoImausr oo w HRAHIOOT ONd ENOT o [0}=B§ OHIREOT0 [ APATeI oo " ~ EWNOI
8L°107LE BH Orqurey oloy 1puir exdogk |umdeis| ewdoos | wihuog uHexdsop| coamiag 0loiy | oHauomuney| 81'10°LO BH OMquwes [dudey aremotr| wort 5N

"1 8102 adeaHy
WewWor ou Lah10 yigHIToa )




eHAdey ‘O

W®X9IA, OO0 douiaduy

65°/8€LEL9 |6Y'L OVl [69°6262191 [6'8616Z [G2 221061 [89°CLOL |v6 b866VL |52 1p88LL |pe260108 |8L°69vCh] 65'08628€1L |69'¢26.19) [82'v0E1v6S [L2 1056681

91's.6e69 |0 €8'10L.61 |6'8616. [62°€9ZS1 28'2v96  |sc'ssevy  [eg'selLs 60'G226LL |S2'86652L  [€¥'869519 |0 S/l 66612 8¢ BeHEOX800 "UA| 9/
0 62'¢2629  [L0'068% 16118 ze'e6ee Z.'v89 98'1985 G'6509 0 G6'1L0919 0L 66°G09 € BeHeoxao) "UA| 6/
0 88'v6.61  |zs'6ETLL v0'sesy  [8'6¥0Z 2£'9968 96'gz/L 2'8/98l ¥'9GE81 0 ¥'9GE81 ZL 1’6251 9€ BeHhad ‘UA[ p/
0 SZ'ZYLL ¥.'1+89 so'oeLl  [89'2viv 10'856 86'6185 ¥8'2199 0 20'v918 8L 8'/v8 0€ BeHhad Al €2
0 10'96586  [96°0689 €Z'vrLl  [v8'18.¥ 16'v96 81'cZ89 Z¥'0999 0 8'€9986 8L 6'€58 8Z BeHhad WA Z/
vy 0 8/2'06001 2511 Ze'rL8h ov'LL6 608959 99'60/9 0 6t'801€ 8/ 1’658 9Z BBHhad ‘WAl 12
1'62691 0 £1'9¢81 86'0E 95'v/21L 61'262 ¥G'18¢E1L ¥8'ZPel 16'ezs9l  |o 66 9'/22 €€ sexodgeLiQ WA 0/
0 6.'8265  |¥'0.6G 12'062 vr'seLe 69'2£9 ZE'€1L95 6655 0 98'60LYS 0l 6'655 L€ eHUdARUN IA] 69
0 86'226Ly  |65'28Z8 G0'60€L  |¥9'0/bS 6'c0L} £'0519 G8'6v£9 0 92'S50pY S'9 6'9/6 62 eHndARMN “UA] g9
0 oz'vsive  [se'90Le 6'G1S 9512 G0'GEY 68'P/EC G'20SC 0 2£'98pG¢E S'9 G8¢ LT BHUdARMIN "UA] 79
0 L¥'sivSLL [o1°28/5 11'096 [&A2 59'608 61'v209 S91L/ 0 yy'e8LSLL 0l S9LL GZ BHUAARUI "UA] 99
SL'0b9v 0 G.'8EGEL 80'eltSL  [6'ss2 ¥0'LpL- 61'2902-  |.591 yv02 0 LyZ. ol ¥'¥02 08 BHUHB|[ ‘UA] 69
6e'vzsyl |0 62'12EP 85'699 ¥v'v60€ 12'196 €6'LLLY 2€'89.v gg'ozérl [0 96 L'96% G6 BHUHB|S ‘UA] 9
€'ss/e1e  |o GE'2E29Y 16'0669 ze'zssolL  [s2'slvy  [so'vvSoz  [6Z'9ziE 8¥'y00Ly  [¥'99L9¥ ev'iesvie |0 [ 9',62¢ €6 BHUHR|[ ‘WA] €9
0 €z'sgzerl  [/0'szv69 98'0668 91086l [69'9089G  |/8'8e¥9Z  |6¥'S6.P Le'v982S  |9z'968es [0 ¥6'sv859L | 221 8'evey 16 BHUHBI ‘WA] 29
0 90'z¥gee  [S1'6EE9 vo'ozil  lev'cler 20'S¥6 ve's2LL 818208 0 /8'65¥8¢ 9'6 £'9¢8 V 81z geHoedy UA[ 19
0 11'09/9 SL'SLYZ 90'/2y 96'8291 £1'09¢ 6.'6081 Gz2'06£2 0 £0'99¢€. GL L8l¢ LG eandely ‘Y ‘LA 09
0 Gz'6G9LL  [z9'eolzl bp'969L  |9'680L 85'0EY L 28'6690L  [9'esizL 0 GO'EZLEL 96 99Z1 9 gexoroseg ‘WA 65
s'/zivie o 15'G88G¥ £0'2088 GG'e9GS  |pe'99gsz  [so'Leov L5'0vive  [ve'ssgee  [1L5'z8620€ |0 9'6 6'LGLY 86 sewooseg ‘WAl gg
S¥'/86551L |0 $6'8£082 L1'€6¥S gv'zive  |ev'vviolL  [gz'szez sl'elovl  |vp'2/8p2  [s9'Loserl [0 9'6 ¥'1662 V 96 kexovoseg ‘Al /g
6v'e62£0s [o 25'0Lp2y 2£'8e28 vz'202s  [8L'60zvz  [8LiLEEV 96'z6£8¢  [9'soese €6'G12667 |0 9'6 988¢ 96 sexooseg ‘UA| 95
9¥'09820z [0 8221992 Sb'852S vl'ezee  |¥2'0o68el  [se'zose vv'izzoz  [v8'Ligez  [29'69¥96L |0 96 ¥'08¥C 2g eeworoseg WAl gg
0 0 0 0 6'195¥2 0 0 99 S'l1zle dyog eexotfoseg WAl 4G
21'z61918 |o 18'v28/8 £8'/02/1 69'0/80L [e2'89506 [1zZL6 S'99Lp. vZ'zesls  |iLg'seszos [o 9'6 69118 V 06§ sexoroseg ‘UA| €5
65'62£9 0 6L LryS. 85'688. 18'986y _ |s6'velez  [e'sozy 89'L/98y |sL'og0sy |0 16'SP¥0e 1'ZL S'12.8 06 sexooseg ‘WA zg
s'evbvsz  |o S0'elvTy 1'9028 /8'081G  |so0'sLivz  [view 82'8909¢  |89'6s51.€  [zz'ecosyz |0 9'6 8'048¢ 8y sexotfoseg ‘WA| |g
96'ze8v0l [o 86912 80'L.YY 90'9z8z _|z0'eciel [zL'esez 26'6.¥81  [v'vovve ss'6el00L [0 ) 9Ll 6012 Vv 9 sexoroseg ‘wA[ 05
g'egessl  [o 9025525 96'G6S/ zz'losy  [e0'zeeez [62'8¥0v 80'9ssve  [8'z9GLp 28'/8£0vL [0 91l £8G¢ 9y sexovoseg Al 6y
86'2696.2 |0 £0'0710F 8/'v98/ eL'16y  lsozilez  [z0'z6Ly Le'e6vve  [80'vlose  [sz'zsopzz |0 9'6 8'60.¢ yy sexoroseg ‘UA| gy
vL'soessl [o 10'vLZ8e Zv'i8h. Lo'zesy  |L1'co0ozz  [e6'066€ ¥9'1659¢  [8g's960y [zZ8998L |0 9Ll 8'1£6¢ Zp sesovoseg ‘UA| sy




